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lekt'kkL=lekt'kkL=lekt'kkL=lekt'kkL=    
SOCIOLOGY 

[ Hindi and English Medium ] 

ACADEMIC/OPEN 

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 80 

• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk      
iz'u 21 gSaA  
Please make sure that the printed pages in this 

question paper are 16 in number and it contains 21 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 

Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 

vo'; fy[ksaA 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : A 
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• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

    (i) bl iz'u&i= esa dqy 21 iz'u gSa] tks pkj pkj pkj pkj [k.Mksa % ^v*] ^v*] ^v*] ^v*] 

^c*] ^l* ^c*] ^l* ^c*] ^l* ^c*] ^l* ,oa ^n*^n*^n*^n* esa foHkDr gSaA    

    (ii) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
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    (iii) [k.M&v[k.M&v[k.M&v[k.M&v ds iz'u la[;k 1 esa lksyglksyglksyglksyg (i-xvi) oLrqfu"B 

izdkj ds iz'u gSaA iz'u (i) ls (x) rd izR;sd dk mÙkj ,d,d,d,d ;k 

nksnksnksnks 'kCnksa ;k;k;k;k okD;ksa esa nhft,A iz'u (xi) ls (xvi) rd 

cgqfodYih; iz'u gSaA fn, x, fodYi esa ls lghlghlghlgh mÙkj 

pqfu,A izR;sd iz'u 1 vad dk gSA 

    (iv) [k.M&c[k.M&c[k.M&c[k.M&c esa iz'u la[;k 2 ls 13 rd vfry?kq mÙkjh; 

iz'u gSaA izR;sd iz'u dk mÙkj yxHkx 25 ls 50 'kCnksa 

esa nhft,A izR;sd iz'u 2 vadksa dk gSA 

    (v) [k.M&[k.M&[k.M&[k.M&llll esa iz'u la[;k 14 ls 19 rd y?kq mÙkjh; iz'u 

gSaA izR;sd iz'u dk mÙkj yxHkx 75 ls 125 'kCnksa esa 

nhft,A izR;sd iz'u 4 vadksa dk gSA 

    (vi) [k.M&[k.M&[k.M&[k.M&nnnn esa iz'u la[;k 20 o 21 nh?kZ mÙkjh; iz'u gSaA 

izR;sd iz'u dk mÙkj yxHkx 150 ls 200 'kCnksa esa 

nhft,A izR;sd iz'u 8 vadksa dk gSA 

    (vii) [k.M&n ds lHkhlHkhlHkhlHkh iz'uksa esa vkarfjd p;u iznku fd;k x;k 

gSA ,sls iz'uksa esa ls vkidks fn, x, p;u esa ls dsoy 

,d,d,d,d gh iz'u djuk gSA 
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General Instructions : 

    (i) This question-paper consists of total 21 

questions, which are divided into four 

Sections : 'A', 'B', 'C' & 'D'. 

    (ii)    All questions are compulsory. 

    (iii) Question No. 1 of Section–A consists of 

sixteen (i-xvi) objective type questions. The 

answer of each question from (i) to (x) may 

be given in one or two words or sentences. 

Questions from (xi) to (xvi) are multiple choice 

type questions. Choose the correct answer 

from given options. Each question carries 1 

mark. 

    (iv) Question Nos. 2 to 13 of Section–B are very 

short answer type questions. The answer of 

each question may be given in about 25 to 

50 words. Each question carries 2 marks. 

    (v) Question Nos. 14 to 19 of Section–C are 

short answer type questions. The answer of 

each question may be given in about 75 to 

125 words. Each question carries 4 marks. 
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    (vi) Question Nos. 20 and 21 of Section–D are 

long answer type questions. The answer of 

each question may be given in about 150 to 

200 words. Each question carries 8 marks. 

    (vii) Internal choice has been provided in all 

questions of Section-D. You have to attempt 

only one of the given choice in such 

questions.  

[k.M & v[k.M & v[k.M & v[k.M & v    

SECTION – A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

  1. (i) fdl ^iz.kkyh* esa iwNs x, iz'u iwoZ fu/kkZfjr gksrs gSa \ 1 

  In which 'method' the question asked are 

pre-decided ? 

 (ii) fdUgha nksnksnksnks ^Ñf"k midj.kksa* ds uke fy[ksaA 1 

  Write the names of any two 'agricultural 

equipments'. 
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 (iii) vkSifuosf'kd Hkkjr esa ^ftyksa* dk iz'kklu dSls pyrk gS \ 1 

  How was administration of 'Districts' run in 

Colonial India ? 

 (iv) 1939 esa xk¡/kh th us dkSu&lk ^i=* fy[kk \ 1 

  Which 'letter' was written by Gandhiji in 

1939 ? 

 (v) ^o.kZ* dk 'kkfCnd rkRi;Z D;k gS \  1 

  What is the literal meaning of 'Varna' ? 

 (vi) ^ckt+kj* ds nksnksnksnks mnkgj.k fy[ksa] ftUgsa vki tkurs gSaA 1 

  Give two examples of 'Bazar' known by   

you. 

 (vii) fdl izdkj ds ^lekt* esa izR;{k yksdrU= dh lEHkkouk,¡ 

fcYdqy de gSa \   1 

  Which 'Society' has the minimum 

possibility of Direct Democracy ? 
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 (viii) fdl ^i)fr* esa ,d lkFk T;knk yksxksa dks 'kkfey ugha 

fd;k tk ldrk \   1 

  In which 'method' maximum people can't be 

involved all-together ? 

 (ix) dkSu&lh ^fofHkUurk,¡* lkekftd vlekurk vkSj cfg"dkj 

dks Li"V djrh gSa \   1 

  Which 'differences' clarify the social 

inequality and exclusion ? 

 (x) ^Hkkjrh; yksdrU=* dk ewyk/kkj D;k gS \ 1 

  What is the base of 'Indian Democracy' ? 

 (xi) xk¡/kh th us ^ued dkuwu* rksM+k %  1  

  ¼v½ 1730 esa ¼c½ 1830 esa 

  ¼l½ 1930 esa ¼n½ buesa ls dksbZ ugha 

  Gandhiji broke the 'Salt Law' in : 

  (a) 1730 (b) 1830 

  (c) 1930 (d) None of these  
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 (xii) fuEu esa ls dkSu&lk ^lkekftd vkUnksyu* ds oxhZdj.k dk 

,d izdkj gS \   1 

  ¼v½ lq/kkjoknh  

  ¼c½ izfrnkukRed 

  ¼l½ ØkfUrdkjh  

  ¼n½ mijksDr lHkh 

  Which among the following 'Social 

Movement' is a type of classification ? 

  (a) Reformatory  

  (b) Redemptive 

  (c) Revolutionary  

  (d) All of the above 

 (xiii) fuEu esa ls dkSu&lk ^ys[k* nq[khZe dh fpUrk dks izfrfcafcr 

djrk gS \   1 

  ¼v½ vkRegR;k  

  ¼c½ Je&foHkktu 

  ¼l½ /kkfeZd thou ds izdkj  

  ¼n½ mijksDr lHkh 
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  Which among the following 'article' reflect 

the worry of Durkheim ? 

  (a) Suicide 

  (b) Division of Labour 

  (c) Kinds of Religious Life 

  (d) All of the above 

 (xiv) fuEu esa ls dkSu&lk ^eqfnzr* lkexzh dk izdkj ughaughaughaugha gS \ 1 

  ¼v½ iqLrdas  

  ¼c½ jsfM;ks 

  ¼l½ eSxt+hu  

  ¼n½ mijksDr esa ls dksbZ ugha 

  Which among the following is not a kind of 

'printing' material ? 

  (a) Books  

  (b) Radio 

  (c) Magazine  

  (d) None of the above 
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 (xv) fuEu esa ls fdls ^lafo/kku* ds ewy mís';ksa esa 'kkfey fd;k 

x;k gS \   1 

  ¼v½ fu/kZurk mUewyu 

  ¼c½ tkfrokn dh lekfIr 

  ¼l½ lHkh ds izfr lekurk dk O;ogkj 

  ¼n½ mijksDr lHkh 

  Which among the following is included in 

the basic objectives of 'Constitution' ? 

  (a) To remove poverty 

  (b) To eliminate casteism 

  (c) Equality to all 

  (d) All of the above 

 (xvi) fdl ^vkUnksyu* esa ,d yEcs le; rd fujarj lkewfgd 

xfrfof/k;ksa dh vko';drk gksrh gS \ 1 

  ¼v½ lkekftd ¼c½ jktuhfrd 

  ¼l½ lkaLÑfrd ¼n½ buesa ls dksbZ ugha 
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  In which 'movement' a continuous and 

collective activities are required for a long 

time ? 

  (a) Social (b) Political 

  (c) Cultural (d) None of these 

[k.M & [k.M & [k.M & [k.M & cccc    

SECTION – B 

¼¼¼¼vfry?kq mÙkjh; vfry?kq mÙkjh; vfry?kq mÙkjh; vfry?kq mÙkjh; iz'u½iz'u½iz'u½iz'u½    

(Very Short Answer Type Questions) 

  2. ^mRiknu fof/k* D;k gS \ 2 

 What is the 'mode of 'production' ? 

  3. ^tUe vkSj O;olk;* dh cnkSyr lekt esa fdls lcls mPp rFkk 

fdls lcls fuEu fLFkfr nh xbZ gS \ 2 

 On the virtue of 'birth and profession' who is 

given the highest and the lowest position in 

society ? 
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  4. ^jk"Vª* D;k gS \ 2 

 What is 'Nation' ? 

  5. ^iznÙk igpku* D;k gS \ 2 

 What is 'ascriptive identity' ? 

  6. ^vkSifuosf'kd Hkkjr* esa psUubZ ls fczVsu dks D;k fu;kZr fd;k 

tkrk Fkk \ 2 

 What was exported from Chennai to Britain in 

'Colonial India' ? 

  7. ^tula[;k lao`f) nj* ls D;k rkRi;Z gS \ 2 

 What is the meaning of 'Population growth rate' ? 

  8. Hkkjr esa ^fofo/krk* ds dkj.k mRiUu pqukSfr;k¡ dkSu&lh gSa \ 2 

 What are the challenges born of 'diversities' in 

India ? 
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  9. ^vFkZO;oLFkk,¡* lekt esa jph&clh gSaA* mnkgj.k nhft,A 2 

 'Economies are mingled in society.' Give 

examples. 

10. ØkfUrdkjh lkekftd vkUnksyu D;k gS \ 2 

 What is Revolutionary social movements ? 

11. Hkkjr esa fdl izdkj ds ^vkUnksyu* gq, gSa \ 2 

 What type of 'movements' occurred in India ? 

12. mÙkj izns'k ds ^izcy tkfr lewgksa* ds mnkgj.k fy[ksaA 2 

 Write examples of 'Dominant castes groups' of 

Uttar Pradesh. 

13. lafo/kku ds ^vuqPNsn-21* esa fdl ckr dk o.kZu fd;k x;k   

gS \   2 

 What has been explained in 'Article-21' of 

Constitution ? 
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[k.M & [k.M & [k.M & [k.M & llll    

SECTION – C 

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½    

(Short Answer Type Questions) 

14. ^lkekftd cfg"dkj* ij laf{kIr ppkZ djsaA 4 

 Discuss in brief on 'Social Exclusion'. 

15. ^iapk;rh jkt laLFkk f=Lrjh; O;oLFkk gSA* dSls \ 4 

 'Panchayati Raj Institution is a three-tier system.' 

How ? 

16. ^izs{k.k* D;k gS \ 4 

 What is 'Observation' ? 

17. ^;q) vkSj foinkvksa* esa vkdk'kok.kh dk foLrkj dSls gqvk \ 4 

 How did All India Radio expand in 'war and 

calamities' ? 
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18. LorU= Hkkjr ds izkjfEHkd o"kksZa esa ^vkS|ksxhdj.k* fdl voLFkk esa 
Fkk \  4 

 What was the position of 'Industrialization' in 

the early years of independent India ? 

19. ^izcy tkfr* 'kCn dk iz;ksx fdl izdkj dh tkfr;ksa ds fy, 
fd;k tkrk gS \ 4 

 For which castes the word 'Dominating Caste'  is 

used ? 

[k.M & [k.M & [k.M & [k.M & nnnn    

SECTION – D 

¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½    

(Long Answer Type Questions) 

20. ^if'pehdj.k* ij vius fopkj O;Dr djsaA 8 

 Express your views on 'Westernization'. 

vFkokvFkokvFkokvFkok    

OR 

 19oha vkSj 20oha 'krkCnh ds izkjEHk esa gq, ^lekt lq/kkj 
vkUnksyuksa* ij izdk'k Mkfy,A   8 
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 Throw light on the 'social reform movements' 

started in 19th and early 20th century. 

21. Hkkjr dh tula[;k dk vkdkj vkSj lao`f) dh tkudkjh nhft,A  

8 

 Give information on the size of Population and its 

increase in India. 

vFkokvFkokvFkokvFkok    

OR 

 ^tula[;k dh vk;q lajpuk* ls D;k rkRi;Z gS \ *ijkfJrrk 

vuqikr* fdl izdkj tula[;k ds ijkfJr vkSj dk;Z'khy fgLlksa dks 

ekius dk lk/ku gS \   3 + 5 = 8 

 What is the meaning of 'Age Structure of 

Population' ? How 'dependency ratio' is a mean 

to measure dependent and working age group of 

population ? 

S 
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CLASS : 12th (Sr. Secondary) Code No. 4317 
Series : SS-M/2019 

Roll No.           

lekt'kkL=lekt'kkL=lekt'kkL=lekt'kkL=    
SOCIOLOGY 

[ Hindi and English Medium ] 

ACADEMIC/OPEN 

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 80 

• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk      
iz'u 21 gSaA  
Please make sure that the printed pages in this 

question paper are 16 in number and it contains 21 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 

Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 

vo'; fy[ksaA 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : B 
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• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

    (i) bl iz'u&i= esa dqy 21 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa % ^v*] ^v*] ^v*] ^v*] 

^c*] ^l* ^c*] ^l* ^c*] ^l* ^c*] ^l* ,oa ^n*^n*^n*^n* esa foHkDr gSaA    

    (ii) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
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    (iii) [k.M&v[k.M&v[k.M&v[k.M&v ds iz'u la[;k 1 esa lksyglksyglksyglksyg (i-xvi) oLrqfu"B 

izdkj ds iz'u gSaA iz'u (i) ls (x) rd izR;sd dk mÙkj ,d,d,d,d ;k 

nksnksnksnks 'kCnksa ;k;k;k;k okD;ksa esa nhft,A iz'u (xi) ls (xvi) rd 

cgqfodYih; iz'u gSaA fn, x, fodYi esa ls lghlghlghlgh mÙkj 

pqfu,A izR;sd iz'u 1 vad dk gSA 

    (iv) [k.M&c[k.M&c[k.M&c[k.M&c esa iz'u la[;k 2 ls 13 rd vfry?kq mÙkjh; 

iz'u gSaA izR;sd iz'u dk mÙkj yxHkx 25 ls 50 'kCnksa 

esa nhft,A izR;sd iz'u 2 vadksa dk gSA 

    (v) [k.M&[k.M&[k.M&[k.M&llll esa iz'u la[;k 14 ls 19 rd y?kq mÙkjh; iz'u 

gSaA izR;sd iz'u dk mÙkj yxHkx 75 ls 125 'kCnksa esa 

nhft,A izR;sd iz'u 4 vadksa dk gSA 

    (vi) [k.M&[k.M&[k.M&[k.M&nnnn esa iz'u la[;k 20 o 21 nh?kZ mÙkjh; iz'u gSaA 

izR;sd iz'u dk mÙkj yxHkx 150 ls 200 'kCnksa esa 

nhft,A izR;sd iz'u 8 vadksa dk gSA 

    (vii) [k.M&n ds lHkhlHkhlHkhlHkh iz'uksa esa vkarfjd p;u iznku fd;k x;k 

gSA ,sls iz'uksa esa ls vkidks fn, x, p;u esa ls dsoy 

,d,d,d,d gh iz'u djuk gSA 
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General Instructions : 

    (i) This question-paper consists of total 21 

questions, which are divided into four 

Sections : 'A', 'B', 'C' & 'D'. 

    (ii)    All questions are compulsory. 

    (iii) Question No. 1 of Section–A consists of 

sixteen (i-xvi) objective type questions. The 

answer of each question from (i) to (x) may 

be given in one or two words or sentences. 

Questions from (xi) to (xvi) are multiple choice 

type questions. Choose the correct answer 

from given options. Each question carries 1 

mark. 

    (iv) Question Nos. 2 to 13 of Section–B are very 

short answer type questions. The answer of 

each question may be given in about 25 to 

50 words. Each question carries 2 marks. 

    (v) Question Nos. 14 to 19 of Section–C are 

short answer type questions. The answer of 

each question may be given in about 75 to 

125 words. Each question carries 4 marks. 
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    (vi) Question Nos. 20 and 21 of Section–D are 

long answer type questions. The answer of 

each question may be given in about 150 to 

200 words. Each question carries 8 marks. 

    (vii) Internal choice has been provided in all 

questions of Section-D. You have to attempt 

only one of the given choice in such 

questions.  

[k.M & v[k.M & v[k.M & v[k.M & v    

SECTION – A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

  1. (i) ,d ^'kks/k i)fr* dk uke fy[ksaA 1 

  Write the name of a 'Research Method'. 

 (ii) fdUgha nksnksnksnks  ^lkekftd HksnHkko&xzLr lewgksa* ds uke fy[ksaA 1 

  Write the names of any two 'social 

discriminated groups'. 
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 (iii) ^lR;'kks/kd lekt* dh LFkkiuk dc dh xbZ \ 1 

  When was 'Satyashodhak Samaj' founded ? 

 (iv) ^n vksu~yh os* ys[k dk lEcU/k fdl i= ls gS \ 1 

  The Article 'The Only Way' belongs to which 

letter ? 

 (v) ^;kstuk vk;ksx* dk xBu dc gqvk \ 1 

  When was 'Planning Commission' 

constituted ? 

 (vi) fdl izdkj dh ^lkekftd laLFkk,¡* yksxksa dks ijLij lEidZ 

esa yk ldrh gSa \   1 

  Which type of 'social institutions' can bring 

the people together ? 

 (vii) gekjs ns'k esa fdl izdkj dk ^yksdrU=* gS \ 1 

  Which type of 'Democracy' does our country 

has ? 
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 (viii) ^fo|ky;* ds ckjs esa Nk=ksa ds fopkj tkuus ds fy, D;k 

rS;kjh djuh pkfg, \   1 

  What preparation should be done to know 

the views of students about 'school' ? 

 (ix) ^pk; m|ksxksa* dh 'kq#vkr Hkkjr esa dc gqbZ \ 1 

  When did 'Tea Industry' get start in India ? 

 (x) euq"; dks ,d ^LFkk;h igpku* dh t:jr D;ksa gksrh gS \ 1 

  Why do man need a 'Permanent identity' ? 

 (xi) fuEu esa ls dkSu&lk ^o.kZ* Hkkjrh; lekt esa O;kikj vkSj 

O;kikjh ds egÙo dks n'kkZrk gS \  1  

  ¼v½ czkã.k ¼c½ {kf=; 

  ¼l½ oS'; ¼n½ buesa ls dksbZ ugha 

  Which among the following 'Varna' in 

Indian society depict the importance of 

business and businessman ? 

  (a) Brahmins (b) Kshatriya 

  (c) Vaishya (d) None of these  
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 (xii) fuEufyf[kr esa ls fdls ^o.kZ O;oLFkk* esa lfEefyr ughaughaughaugha 
fd;k x;k gS \   1 

  ¼v½ 'kwnz 

  ¼c½ iape 

  ¼l½ oS'; 

  ¼n½ buesa ls dksbZ ugha 

  Which among the following is not included 

in the 'Varna System' ? 

  (a) Shudras 

  (b) Pancham 

  (c) Vaishya 

  (d) None of these 

 (xiii) dqN tkfr;ksa }kjk dqN vU; tkfr;ksa dk mRihM+u djuk] 

dgykrk gS %   1 

  ¼v½ lkEiznkf;drk 

  ¼c½ {ks=okn 

  ¼l½ tkfrokn 

  ¼n½ mijksDr lHkh 
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  Doing of torture by some castes against 

other castes, is called ? 

  (a) Communalism 

  (b) Regionalism 

  (c) Casteism  

  (d) All of the above 

 (xiv) fuEu esa ls D;k gekjs vrhr dk gh ugha] orZeku dk Hkh 

vfHkUu vax gS \   1 

  ¼v½ ifjokj ¼c½ lekt 

  ¼l½ tkfr ¼n½ buesa ls dksbZ ugha 

  Which among the following is not only a 

part of our past but an integral part of our 

present also ? 

  (a) Family (b) Society 

  (c) Caste (d) None of these 
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 (xv) ^vkSifuosf'kd* 'kklu ds vUrxZr Hkkjr us dkSu&lh 

,dhdj.k miyfC/k Hkkjh dher pqdk dj gkfly dh \ 1 

  ¼v½ vkfFkZd ¼c½ jktuhfrd 

  ¼l½ iz'kklfud ¼n½ mijksDr lHkh 

  Which integrated achievement, India had 

achieved during 'colonialism' by paying a 

heavy price ? 

  (a) Economic 

  (b) Political 

  (c) Administrative 

  (d) All of the above 

 (xvi) fuEu esa ls dkSu&lk ^eqfnzr* lkexzh dk ,d izdkj gS \ 1 

  ¼v½ jsfM;ks  

  ¼c½ Vsyhfot+u 

  ¼l½ lekpkj&i=  

  ¼n½ buesa ls dksbZ ugha 
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  Which among the following is a kind of 

'printing' material ? 

  (a) Radio (b) Television 

  (c) Newspaper (d) None of these 

[k.M & [k.M & [k.M & [k.M & cccc    

SECTION – B 

¼¼¼¼vfry?kq mÙkjh; vfry?kq mÙkjh; vfry?kq mÙkjh; vfry?kq mÙkjh; iz'u½iz'u½iz'u½iz'u½    

(Very Short Answer Type Questions) 

  2. ^ifj;kstuk dk;Z* ds nksnksnksnks  xq.k fy[ksaA 2 

 Write two merits of 'Project Work'. 

  3. ^vkS|ksxhdj.k* dk D;k eryc gS \ 2 

 What is the meaning of 'Industrialization' ? 

  4. ^leqnk;* D;k gS \ 2 

 What is 'Community' ? 
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  5. ^iznÙk igpkuksa* dh ,d fo'ks"krk fy[ksaA 2 

 Write a characteristic of 'ascriptive identities'. 

  6. fdu&fdu eqíksa us ^tutkrh; vkUnksyuksa* dks rwy nsus esa 

egÙoiw.kZ Hkwfedk fuHkkbZ gS \ 2 

 Which issues have played a great role in 

catalyzing the 'Tribal Movements' ? 

  7. ^_.kkRed lao`f) nj* D;k gS \ 2 

 What is 'Retardation' ? 

  8. lu~ 1951 ls vc rd fdruh ^tu&x.kuk,¡* gqbZ   gSa \ lHkh 

dk lu~ fy[ksaA 2 

 How many 'Censes' have been occurred since 

1951 ? Write all the years. 

  9. ^fofue; dk fcy* D;k gS \ 2 

 What is 'Bill of Exchange' ? 
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10. 19oha lnh ds nksnksnksnks egku~ ^lekt lq/kkjdksa* ds uke fy[ksa tks Å¡ph 

tkfr o e/;e oxZ ls Fks \ 2 

 Write the name of two great 'social reformer' of 

19th century who belong to higher caste and 

middle class family ? 

11. fLeFk us ^vn`'; gkFk* dk uke fdls fn;k \ 2 

 To whom Smith has said 'The Invisible Hand' ? 

12. vk/kqfud vkSj izxfr'khy Hkkjr dh uhao fdu dsUnzksa ij j[kh  

xbZ \  2 

 On which pillars the foundation of modern and 

progressive India have been kept ? 

13. [kkyh txgksa dk iz;ksx fdu&fdu dkeksa ds fy, gksrk gS \ 2 

 The open spaces are used for what purposes ? 
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SECTION – C 

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½    

(Short Answer Type Questions) 

14. ^iztuu&nj* ij ppkZ djsaA 4 

 Discuss on 'Fertility Rate'. 

15. ^vk/kqfudrk* ls vkidk D;k eryc gS \ 4 

 What do you mean by 'modernity' ? 

16. lafo/kku }kjk fn, x, ^ernku ds vf/kdkj* ij ppkZ djsaA 4 

 Discuss on the 'Right to Vote' given by the 

Constitution. 

17. ^L=h&iq#"k rqyuk* uked iqLrd dk laf{kIr ifjp; nsaA 4 

 Give a brief introduction of the book 'Stree Purush 

Tulana'. 
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18. ^fuxe&laLÑfr* ij laf{kIr ppkZ djsaA 4 

 Discuss in brief on 'Corporate-Culture'. 

19. ^izfrjks/kh vkUnksyu* D;k gS \ mnkgj.k nsdj le>k,¡A 4 

 What is 'Redemptive-Movement' ? Explain with 

examples. 

[k.M & [k.M & [k.M & [k.M & nnnn    

SECTION – D 

¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½    

(Long Answer Type Questions) 

20. ^gfjr ØkfUr* D;k gS \ blds lkekftd ifj.kkeksa dh O;k[;k 
djsaA  3 + 5 = 8 

 What is 'Green Revolution' ? Discuss its social 

consequences. 

vFkokvFkokvFkokvFkok    

OR 

 dkexkj gM+rky ij D;ksa tkrs gSa \ 1982 esa cEcbZ VSDlVkby 
fey dh gM+rky dh ppkZ djsaA   3 + 5 = 8 

 Why do the labour go on strike ? Discuss the 

Bombai Textile Mill's strike in 1982. 
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21. ^iapk;rksa* dh 'kfDr;ksa vkSj mÙkjnkf;Roksa dk mYys[k djsaA 8 

 Discuss the powers and responsibilities of 

'Panchayat'. 

vFkokvFkokvFkokvFkok    

OR 

 ^yksdra=* dh eq[; Jsf.k;ksa dk gokyk nsrs gq,] ;g crk,¡ fd 

Hkkjrh; yksdrU= dh uhao dSls iM+h \  8  

 How did Indian Democracy founded, explain in 

the light of main categories of 'democracy' ? 

S 
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(Only for Fresh/Re-appear Candidates) 
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• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk      
iz'u 21 gSaA  
Please make sure that the printed pages in this 

question paper are 16 in number and it contains 21 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 

Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 

vo'; fy[ksaA 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : D 
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• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

    (i) bl iz'u&i= esa dqy 21 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa % ^v*] ^v*] ^v*] ^v*] 

^c*] ^l* ^c*] ^l* ^c*] ^l* ^c*] ^l* ,oa ^n*^n*^n*^n* esa foHkDr gSaA    

    (ii) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
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    (iii) [k.M&v[k.M&v[k.M&v[k.M&v ds iz'u la[;k 1 esa lksyglksyglksyglksyg (i-xvi) oLrqfu"B 

izdkj ds iz'u gSaA iz'u (i) ls (x) rd izR;sd dk mÙkj ,d,d,d,d ;k 

nksnksnksnks 'kCnksa ;k;k;k;k okD;ksa esa nhft,A iz'u (xi) ls (xvi) rd 

cgqfodYih; iz'u gSaA fn, x, fodYi esa ls lghlghlghlgh mÙkj 

pqfu,A izR;sd iz'u 1 vad dk gSA 

    (iv) [k.M&c[k.M&c[k.M&c[k.M&c esa iz'u la[;k 2 ls 13 rd vfry?kq mÙkjh; 

iz'u gSaA izR;sd iz'u dk mÙkj yxHkx 25 ls 50 'kCnksa 

esa nhft,A izR;sd iz'u 2 vadksa dk gSA 

    (v) [k.M&[k.M&[k.M&[k.M&llll esa iz'u la[;k 14 ls 19 rd y?kq mÙkjh; iz'u 

gSaA izR;sd iz'u dk mÙkj yxHkx 75 ls 125 'kCnksa esa 

nhft,A izR;sd iz'u 4 vadksa dk gSA 

    (vi) [k.M&[k.M&[k.M&[k.M&nnnn esa iz'u la[;k 20 o 21 nh?kZ mÙkjh; iz'u gSaA 

izR;sd iz'u dk mÙkj yxHkx 150 ls 200 'kCnksa esa 

nhft,A izR;sd iz'u 8 vadksa dk gSA 

    (vii) [k.M&n ds lHkhlHkhlHkhlHkh iz'uksa esa vkarfjd p;u iznku fd;k x;k 

gSA ,sls iz'uksa esa ls vkidks fn, x, p;u esa ls dsoy 

,d,d,d,d gh iz'u djuk gSA 
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General Instructions : 

    (i) This question-paper consists of total 21 

questions, which are divided into four 

Sections : 'A', 'B', 'C' & 'D'. 

    (ii)    All questions are compulsory. 

    (iii) Question No. 1 of Section–A consists of 

sixteen (i-xvi) objective type questions. The 

answer of each question from (i) to (x) may 

be given in one or two words or sentences. 

Questions from (xi) to (xvi) are multiple choice 

type questions. Choose the correct answer 

from given options. Each question carries 1 

mark. 

    (iv) Question Nos. 2 to 13 of Section–B are very 

short answer type questions. The answer of 

each question may be given in about 25 to 

50 words. Each question carries 2 marks. 

    (v) Question Nos. 14 to 19 of Section–C are 

short answer type questions. The answer of 

each question may be given in about 75 to 

125 words. Each question carries 4 marks. 
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    (vi) Question Nos. 20 and 21 of Section–D are 

long answer type questions. The answer of 

each question may be given in about 150 to 

200 words. Each question carries 8 marks. 

    (vii) Internal choice has been provided in all 

questions of Section-D. You have to attempt 

only one of the given choice in such 

questions.  

[k.M & v[k.M & v[k.M & v[k.M & v    

SECTION – A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

  1. (i) fdl ^i)fr* esa lEcfU/kr fo"k; ij foLrkj ls ppkZ dh 

tk ldrh gS \ 1 

  Which 'Method' can be discussed in detail 

on the related topic ? 

ClassResult.in



 ( 6 ) 4317/(Set : D) 

4317/(Set : D) 

 (ii) gfj;k.kk jkT; dh lhek ds lkFk yxrs fdUgha nksnksnksnks cM+s 

^jkT;ksa* ds uke fy[ksaA   1 

  Write down the names of any two big 

'States', along with the Haryana State 

border. 

 (iii) ikjEifjd rkSj ij ^tkfr;k¡* fdlls tqM+h gksrh gSa \ 1 

  To whom 'castes' are traditionally related ? 

 (iv) fLeFk us fdl izdkj ds O;kikj dk leFkZu fd;k Fkk \ 1 

  What type of business was supported by 

Smith ? 

 (v) vBkjg o"kZ vk;q ds ^lkekftd lewg* dks D;k dgk tkrk 

gS \    1 

  What is called the 18 years 'Social Group' ? 

 (vi) lkekU;r% ge ^ckt+kj* 'kCn dk iz;ksx fdl LFkku ds fy, 

djrs gSa \   1 

  For what place, the word 'Bazaar' do we 

usually use ? 
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 (vii) fdl ekuo&foKkuh us ^/kksjkbZ* xk¡o dk v/;;u fd;k \ 1 

  Which anthropologist has studied the 

village 'Dhorai' ? 

 (viii) lHkh o;Ldksa dks ^er nsus dk vf/kdkj* fdlus fn;k \ 1 

  Who gave all adults the 'Right to Vote' ? 

 (ix) ^Je&foHkktu* fdl lkekftd fopkjd dh Ñfr gS \ 1 

  'Division of Labour' is the creation of which 

social thinker ? 

 (x) ^lkekftd fo'ks"krk,¡* O;fDr;ksa ds chp fdl izdkj dh 

fHkUurk dks izfrfcfEcr djrh gSa \  1 

  'Social characteristics' reflect what type of 

variation between individuals ? 

 (xi) ,d [kkl HkkSxksfyd {ks= vkSj ml ij jgus okys yksxksa ij 

dkSu fu;U=.k j[krk gS \   1  

  ¼v½ leqnk; ¼c½ jkT; 

  ¼l½ jk"Vª ¼n½ mijksDr lHkh 
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  Who controls, a particular geographical 

area and the people living in it ? 

  (a) Community  

  (b) State 

  (c) Nation 

  (d) All of the above 

 (xii) ^jk"Vª* dk Hksn n'kkZus okyh lcls utnhdh dlkSVh D;k   

gS \    1 

  ¼v½ leqnk; ¼c½ jkT; 

  ¼l½ jk"Vª ¼n½ mijksDr lHkh 

  What is the nearest criterion that 

distinguishes the 'Nation' ? 

  (a) Community (b) State 

  (c) Nation (d) All of the above 
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 (xiii) fuEu esa ls dkSu&lk] ns'k dh ^v[k.Mrk o ,drk* ds fy, 

dke djus okyk ,d ?kVd gS \  1 

  ¼v½ lkEiznkf;d naxs  

  ¼c½ tkfrxr yM+kbZ&>xM+s 

  ¼l½ lkekftd lejlrk  

  ¼n½ buesa ls dksbZ ugha 

  Which among the following is a factor of 

doing work for the 'Unity and Integrity' of 

the Nation ? 

  (a) Communal riots  

  (b) Caste battle fights 

  (c) Social harmony  

  (d) None of these 

 (xiv) fuEu esa ls dkSu&lk ns'k ^tula[;k* dh n`f"V ls tYnh gh 

igyk LFkku izkIr dj ysxk \   1 

  ¼v½ phu ¼c½ vesfjdk 

  ¼l½ Hkkjr ¼n½ buesa ls dksbZ ugha 
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  Which among the following countries will 

soon get the first position in terms of 

'population' ? 

  (a) China (b) America 

  (c) India (d) None of these 

 (xv) fuEu esa ls dkSu&lh oLrq dks ^dksydkrk ls fczVsu* dks 

fu;kZr fd;k tkrk Fkk \   1 

  ¼v½ phuh ¼c½ uhy 

  ¼l½ twV ¼n½ buesa ls dksbZ ugha 

  Which of these articles was exported to 

'Britain from Kolkata' ? 

  (a) Sugar (b) Indigo 

  (c) Jute (d) None of these 

 (xvi) fuEu esa ls fdl ^uxj* dks fczfV'k lkezkT; dh vFkZO;oLFkk 

ds fy, mi;qDr ekuk x;k \   1 

  ¼v½ eqEcbZ ¼c½ dksydkrk 

  ¼l½ psUubZ ¼n½ mijksDr lHkh dks 
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  Which of these 'cities' was considered 

suitable for the economy of the British 

Empire ? 

  (a) Mumbai (b) Kolkata 

  (c) Chennai (d) All of the above 

[k.M & [k.M & [k.M & [k.M & cccc    

SECTION – B 

¼¼¼¼vfry?kq mÙkjh; vfry?kq mÙkjh; vfry?kq mÙkjh; vfry?kq mÙkjh; iz'u½iz'u½iz'u½iz'u½    

(Very Short Answer Type Questions) 

  2. ^fofuos'k* fdls dgk tkrk gS \ 2 

 What is 'Disinvestment' ? 

  3. ^lkekftd vkUnksyu* ds dksbZ nksnksnksnks  izdkj fy[ksaA 2 

 Write any two types of 'Social Movement'. 

  4. ^,sfrgkfld i)fr* D;k gS \ 2 

 What is 'Historical Method' ? 
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  5. ^dkuwu* vkSj ^U;k;* esa fHkUurk crk,¡A 2 

 Differentiate between 'Law' and 'Justice'. 

  6. ^tkfrokn* D;k gS \ 2 

 What is 'Casteism' ? 

  7. 1901 vkSj 1951 ds chp Hkkjr esa fdu&fdu o"kksZa esa 

^tux.kuk* dk;Z lEiUu djk;k x;k \ 2 

 In what years between 1901 to 1951 'census' 

was conducted in India ? 

  8. ^vUrjtkrh;&fookg* dk D;k ykHk gS \ 2 

 What is the benefit of 'Inter-caste marriage' ? 

  9. ^lkfo=h ckbZ Qqys* ds ckjs esa vki D;k tkurs gSa \ 2 

 What do you know about 'Savitri Bai Phule' ? 
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10. ^dk;Z'khy* oxZ dkSu&lk gS \ 2 

 What is the 'working age' class ? 

11. ^mifuos'k dky* ds nkSjku ^ekjokM+h* fdl izdkj ,d lQy 

O;kikfjd leqnk; cus \ 2 

 How 'Marwari' became a successful business 

community during the 'colonial period' ? 

12. Hkkjr ds fdUgha pkjpkjpkjpkj  izFke ^vk/kqfud m|ksxksa* ds uke fy[ksaA 2 

 Write down the name of any four first 'Modern 

Industries' of India. 

13. Hkkjr esa nksnksnksnks izeq[k ^/kkfeZd leqnk;ksa* dh izfr'krrk crk,¡ tks 

tula[;k esa lokZf/kd gksaA 2 

 Tell percentage of two major 'religious 

communities' which has most population in 

India. 
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[k.M & [k.M & [k.M & [k.M & llll    

SECTION – C 

¼y?k¼y?k¼y?k¼y?kq mÙkjh; iz'u½q mÙkjh; iz'u½q mÙkjh; iz'u½q mÙkjh; iz'u½    

(Short Answer Type Questions) 

14. ^tula[;k dh vk;q&lajpuk* ij ,d laf{kIr uksV fy[ksaA 4 

 Write a short note on 'Age-Structure of 

Population'. 

15. ^lkekftd&fo"kerk* ij vius fopkj O;Dr djsaA 4 

 Express your views on 'Social-Inequality'. 

16. ^vFkZO;oLFkk ds mnkjhdj.k* dk D;k vFkZ gS \ 4 

 What does 'Liberalization of Economy' means ? 

17. ^vuDokbV oqM~l* esa D;k mYys[k feyrk gS \ 4 

 What is written in 'Unquiet Woods' ? 
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18. ^etnwjksa* ds cM+s iSekus ij lapkj ls xzkeh.k lekt ij D;k izHkko 
iM+s gSa \ 4 

 What is the impact on rural society with 

widespread circulation of 'Labourers' ? 

19. ^losZ{k.k iz.kkyh* D;k gS \ 4 

 What is 'Survey Method' ? 

[k.M & [k.M & [k.M & [k.M & nnnn    

SECTION – D 

¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½    

(Long Answer Type Questions) 

20. ^ou iapk;r* D;k gS \ ^fuj{kj efgykvksa* dks iapk;rh jkt dSls 
izf'k{k.k nsrk gS \ 4 + 4 = 8 

 What is 'Van Panchayat' ? How Panchayati Raj 

give training to 'illiterate women' ? 

vFkokvFkokvFkokvFkok    

OR 

 ^iapk;r* D;k gS \ iapk;r esa lekfgr 'kfDr;ksa dk o.kZu djsaA 
4 + 4 = 8 
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 What is 'Panchayat' ? Describe the strength 

contained in Panchayat. 

21. ^lkekftd&ifjorZu* ds fofHkUu izdkjksa ds uke fy[ksaA muesa ls 

fdlh ,d,d,d,d ij foLr`r ppkZ djsaA 3 + 5 = 8 

 Write the names of different types of 'Social-

changes'. To make detailed discussion of any one 

of them. 

vFkokvFkokvFkokvFkok    

OR 

 ^mifuos'kokn* D;k gS \ vk/kqfud Hkkjr esa mifuos'kokn dk D;k 

izHkko iM+k \   3 + 5 = 8 

 What is 'Colonialism' ? What were the impacts of 

colonialism in modern India ? 

S 
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• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk      
iz'u 21 gSaA  
Please make sure that the printed pages in this 

question paper are 16 in number and it contains 21 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 

Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 

vo'; fy[ksaA 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : C 
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• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

    (i) bl iz'u&i= esa dqy 21 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa % ^v*] ^v*] ^v*] ^v*] 

^c*] ^l* ^c*] ^l* ^c*] ^l* ^c*] ^l* ,oa ^n*^n*^n*^n* esa foHkDr gSaA    

    (ii) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
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    (iii) [k.M&v[k.M&v[k.M&v[k.M&v ds iz'u la[;k 1 esa lksyglksyglksyglksyg (i-xvi) oLrqfu"B 

izdkj ds iz'u gSaA iz'u (i) ls (x) rd izR;sd dk mÙkj ,d,d,d,d ;k 

nksnksnksnks 'kCnksa ;k;k;k;k okD;ksa esa nhft,A iz'u (xi) ls (xvi) rd 

cgqfodYih; iz'u gSaA fn, x, fodYi esa ls lghlghlghlgh mÙkj 

pqfu,A izR;sd iz'u 1 vad dk gSA 

    (iv) [k.M&c[k.M&c[k.M&c[k.M&c esa iz'u la[;k 2 ls 13 rd vfry?kq mÙkjh; 

iz'u gSaA izR;sd iz'u dk mÙkj yxHkx 25 ls 50 'kCnksa 

esa nhft,A izR;sd iz'u 2 vadksa dk gSA 

    (v) [k.M&[k.M&[k.M&[k.M&llll esa iz'u la[;k 14 ls 19 rd y?kq mÙkjh; iz'u 

gSaA izR;sd iz'u dk mÙkj yxHkx 75 ls 125 'kCnksa esa 

nhft,A izR;sd iz'u 4 vadksa dk gSA 

    (vi) [k.M&[k.M&[k.M&[k.M&nnnn esa iz'u la[;k 20 o 21 nh?kZ mÙkjh; iz'u gSaA 

izR;sd iz'u dk mÙkj yxHkx 150 ls 200 'kCnksa esa 

nhft,A izR;sd iz'u 8 vadksa dk gSA 

    (vii) [k.M&n ds lHkhlHkhlHkhlHkh iz'uksa esa vkarfjd p;u iznku fd;k x;k 

gSA ,sls iz'uksa esa ls vkidks fn, x, p;u esa ls dsoy 

,d,d,d,d gh iz'u djuk gSA 
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General Instructions : 

    (i) This question-paper consists of total 21 

questions, which are divided into four 

Sections : 'A', 'B', 'C' & 'D'. 

    (ii)    All questions are compulsory. 

    (iii) Question No. 1 of Section–A consists of 

sixteen (i-xvi) objective type questions. The 

answer of each question from (i) to (x) may 

be given in one or two words or sentences. 

Questions from (xi) to (xvi) are multiple choice 

type questions. Choose the correct answer 

from given options. Each question carries 1 

mark. 

    (iv) Question Nos. 2 to 13 of Section–B are very 

short answer type questions. The answer of 

each question may be given in about 25 to 

50 words. Each question carries 2 marks. 

    (v) Question Nos. 14 to 19 of Section–C are 

short answer type questions. The answer of 

each question may be given in about 75 to 

125 words. Each question carries 4 marks. 
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    (vi) Question Nos. 20 and 21 of Section–D are 

long answer type questions. The answer of 

each question may be given in about 150 to 

200 words. Each question carries 8 marks. 

    (vii) Internal choice has been provided in all 

questions of Section-D. You have to attempt 

only one of the given choice in such 

questions.  

[k.M & v[k.M & v[k.M & v[k.M & v    

SECTION – A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

  1. (i) og dkSu&lh ^Hkkjrh; lkekftd laLFkk* gS] tks fo'ks"k 

tkfr;ksa esa iSnk gq, O;fDr;ksa ds fo#) HksnHkkoiw.kZ O;ogkj 

dks ykxw djrh gS \ 1 

  Which one is the 'Indian Social Institution' 

that implement discrimination against 

people born in special caste ? 
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 (ii) Hkkjr dk ^lafo/kku* dc vkRekfiZr fd;k x;k \ 1 

  When was Indian 'Constitution' adopted ? 

 (iii) ^dkuwu* ds ihNs fdldh 'kfDr fufgr gksrh gS \ 1 

  What is the force behind 'law' ? 

 (iv) ^yksdrU=* jktuhfrd LorU=rk ds vfrfjDr vkSj D;k   

gS \    1 

  What is 'democracy' besides political 

freedom ? 

 (v) LorU=rk ls igys cUnjxkg okys fdUgha nknknknkss ss  

^vkS|ksfxd&uxjksa* ds uke fy[ksaA  1 

  Write the names of any two 'industrial port 

cities' before independence. 

 (vi) ^tehankjh O;oLFkk* dk dksbZ ,d,d,d,d ifj.kke fy[ksaA 1 

  Write any one consequence of 'Zamindari 

System'. 
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 (vii) ?kjsyw dke esa mi;ksx fd, tkus okys fdUgha nksnksnksnks midj.kksa 

ds uke fy[ksaA    1 

  Write the names of any two domestic 

equipments. 

 (viii) vki vius ?kj esa miyC/k fo'ks"k mi;ksx dh fdUgha nksnksnksnks  

oLrqvksa ds uke fy[ksaA   1 

  Write the names of any two specially used 

things available in your house. 

 (ix) gekjk ^vk/kqfud bfrgkl* fdl 'krkCnh ds lkFk izkjEHk 

gqvk ekuk tkrk gS \   1 

  In which century does our 'Modern History' 

consider to be began ? 

 (x) fofHkUu rjg ls mi;ksx esa yk, tkus okys fdUgha nksnksnksnks  

lkoZtfud LFkkuksa ds uke fy[ksaA  1 

  Write the names of any two public places of 

multiple use. 
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 (xi) ^turk dk] turk ds }kjk] turk ds fy,*] 'kklu 

dgykrk gS %   1  

  ¼v½ yksdrU=  

  ¼c½ izR;{k yksdrU= 

  ¼l½ ijks{k yksdrU=  

  ¼n½ buesa ls dksbZ ugha 

  'Rule by the people, of the people, for the 

people', is called : 

  (a) Democracy  

  (b) Direct Democracy 

  (c) Indirect Democracy 

  (d) None of these  

 (xii) fuEu esa ls dkSu&lk ^leqnzrVh; uxj* gS \ 1 

  ¼v½ cEcbZ 

  ¼c½ psUubZ 

  ¼l½ dksydkrk 

  ¼n½ mijksDr lHkh 
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  Which among the following is the 'Coastal 

City' ? 

  (a) Mumbai (b) Chennai 

  (c) Kolkata (d) All of the above 

 (xiii) vkfFkZd nk'kZfudrk dks fdl Hkk"kk esa ^ysl&,&Qs;j* dgk 

x;k \    1 

  ¼v½ Ýkalhlh ¼c½ teZuh 

  ¼l½ vaxzsth ¼n½ buesa ls dksbZ ugha 

  In what language 'Laissez-Faire' is known 

as economic philosophy ? 

  (a) French (b) German 

  (c) English (d) None of these 

 (xiv) fuEu esa ls dkSu&lh ^f'k{kk&i)fr* jk"Vªoknh psruk ,oe~ 

mifuos'k fojks/kh psruk dk ek/;e cuh \ 1 

  ¼v½ iwohZ ¼c½ if'peh 

  ¼l½ mÙkjh ¼n½ buesa ls dksbZ ugha 
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  Which among the following 'Educational 

System' became the medium of National 

Consciousness and Anti-imperialist Spirit ? 

  (a) Eastern (b) Western 

  (c) Northern (d) None of these 

 (xv) fuEu esa ls dkSu&lh ^O;oLFkk* gekjs ns'k esa fczfV'k izk:i 

o izfrekuksa ij vk/kkfjr gS \  1 

  ¼v½ lalnh; ¼c½ fof/k 

  ¼l½ f'k{kk ¼n½ mijksDr lHkh 

  Which among the following 'system' in our 

country is based on British Pattern & 

Formats ? 

  (a) Parliamentary 

  (b) Law 

  (c) Education 

  (d) All of the above 
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 (xvi) ^;kstuk vk;ksx* dk xBu fdl ljdkj ds izLrko ij 

fd;k x;k \   1 

  ¼v½ gfj;k.kk ¼c½ fnYyh 

  ¼l½ Hkkjr ¼n½ buesa ls dksbZ ugha 

  'Planning Commission' was constituted on 

the recommendation of which government ? 

  (a) Haryana (b) Delhi 

  (c) India (d) None of these 

[k.M & [k.M & [k.M & [k.M & cccc    

SECTION – B 

¼¼¼¼vfry?vfry?vfry?vfry?kq mÙkjh; kq mÙkjh; kq mÙkjh; kq mÙkjh; iz'u½iz'u½iz'u½iz'u½    

(Very Short Answer Type Questions) 

  2. ^laLÑfrdj.k* D;k gS \ 2 

 What is 'Sanskritization' ? 

  3. ^mPpre U;k;ky;* D;k gS \ 2 

 What is 'Supreme Court' ? 
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  4. ^mnkjhdj.k* dh uhfr D;k gS \ 2 

 What is the policy of 'Liberalization' ? 

  5. ^lk{kkRdkj i)fr* dk ,d,d,d,d ykHk fy[ksaA 2 

 Write one advantage of 'Interview Method' ? 

  6. ^jkT;* 'kCn dk vFkZ crk,¡A 2 

 Give the meaning of 'State'. 

  7. os dkSu&ls ^QwV Mkyus okys ?kVd* gSa] tks Hkkjr dh ,drk o 

v[k.Mrk dks gkfu igq¡pkus esa yxs gSa \ 2 

 What are the 'divisive forces' hard at work 

tearing apart the Unity and Integrity of India ? 

  8. ^lkekftd&cfg"dkj* D;k gS \ 2 

 What is 'Social-Exclusion' ? 
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  9. ^lk{kkRdkj i)fr* dh ,d,d,d,d gkfu fy[ksaA 2 

 Write one demerit of 'Interview Method'. 

10. ^iq"dj* ¼jktLFkku½ D;ksa izfl) gS \ 2 

 Why 'Pushkar' (in Rajasthan) is famous ? 

11. fdl cnyko ds dkj.k Hkkjr esa ^Hkwe.Myhdj.k* ds ;qx dh 

'kq#vkr gqbZ \ 2 

 By which change the era of 'Globalization' 

started in India ? 

12. ^Hkkjr ,d egku~ lkaLÑfrd fofo/krk okyk ns'k gSA* bldk D;k 

vFkZ gS \ 2 

 'India is a great country of Cultural Diversities.' 

What does it mean ? 

13. ^Ñf=e vojks/k* D;k gSa \ 2 

 What are 'Preventive Checks' ? 
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[k.M & [k.M & [k.M & [k.M & llll    

SECTION – C 

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½    

(Short Answer Type Questions) 

14. 1901 esa gjcVZ fjlys ds funsZ'ku esa djkbZ xbZ tux.kuk fdl 

izdkj egÙoiw.kZ lkfcr jgh \ 4 

 How did Census of 1901 by Herbert Risle prove 

so important ? 

15. ^vLi`';rk* ij ,d laf{kIr uksV fy[ksaA 4 

 Write a brief note on 'Untouchability'. 

16. ^vk/kqfudhdj.k* ij ,d laf{kIr ppkZ djsaA 4 

 Discuss in brief on 'Modernization'. 

17. ^tutkrh; {ks=ksa* esa iapk;rh jkt O;oLFkk fdl izdkj dh gS \ 4 

 What type of Panchayati Raj System is in 'Tribal 

areas' ? 
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18. ^bysDVªkWfud vFkZO;oLFkk* D;k gS \ 4 

 What is 'Electronic Economy' ? 

19. vkt+knh ds ckn fo'ks"kdj ^xzkeh.k lekt* esa D;k cnyko vk, \ 
4 

 What changes were brought in specially 'rural 

society' after independence ? 

[k.M & [k.M & [k.M & [k.M & nnnn    

SECTION – D 

¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½    

(Long Answer Type Questions) 

20. ^lkekftd vkUnksyu* ds y{k.k crk,¡A 8 

 Give symptoms of 'Social Movements'. 

vFkokvFkokvFkokvFkok    

OR 

 lekt'kkL= esa lkekftd&vkUnksyuksa dk D;k egÙo gS \ 8 

 What is the importance of social movements in 

Sociology ? 
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21. ^tulkaf[;dh* D;k gS \ lekt'kkL= esa tulkaf[;dh dk D;k 

egÙo gS \ 3 + 5 = 8 

 What is 'Demography' ? What is the importance of 

Demography in Sociology ? 

vFkokvFkokvFkokvFkok    

OR 

 tulkaf[;dh; laØe.k dk fl)kUr D;k gS \ tulkaf[;dh; 

ladYiukvksa dks nj ;k vuqikr ds :i esa fdl izdkj vfHkO;Dr 

fd;k tkrk gS \   3 + 5 = 8 

 What is the theory of Demographical-Transition ? 

How does Demographical concepts have been 

express as rate and ratios ? 

S 
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